
Part information update day： 

For use with the R32

CMH-WM•V-A
June 2019
BWE018330

SERVICE PARTS LIST FOR
MITSUBISHI ELECTRIC
PACKAGED AIR-CONDITIONERS

Series : 

INDEX

CMH-WM250V-A  
CMH-WM350V-A  
CMH-WM500V-A

2019/06/042019/06/042019/06/042019/06/042019/06/042019/06/042019/06/042019/06/042019/06/042019/06/04



107

108

106

109

101

102

106

104

105

103

(*1)

*1 77 H Screws (part No.109)

1

CMH-WM250V-ACMH-WM250V-ACMH-WM250V-ACMH-WM250V-ACMH-WM250V-ACMH-WM250V-ACMH-WM250V-ACMH-WM250V-ACMH-WM250V-ACMH-WM250V-ACMH-WM250V-ACMH-WM250V-A
CMH-WM350V-ACMH-WM350V-ACMH-WM350V-ACMH-WM350V-ACMH-WM350V-ACMH-WM350V-ACMH-WM350V-ACMH-WM350V-ACMH-WM350V-ACMH-WM350V-ACMH-WM350V-ACMH-WM350V-A
CMH-WM500V-ACMH-WM500V-ACMH-WM500V-ACMH-WM500V-ACMH-WM500V-ACMH-WM500V-ACMH-WM500V-ACMH-WM500V-ACMH-WM500V-ACMH-WM500V-ACMH-WM500V-ACMH-WM500V-A

EXTERNAL PARTSEXTERNAL PARTSEXTERNAL PARTSEXTERNAL PARTSEXTERNAL PARTSEXTERNAL PARTSEXTERNAL PARTSEXTERNAL PARTSEXTERNAL PARTSEXTERNAL PARTSEXTERNAL PARTSEXTERNAL PARTSEXTERNAL PARTSEXTERNAL PARTS



No. Part  Name Spec. Dwg. No. Notes for the models

R
ev

is
io

n 
in

fo
.

Part No.

CMH-WM250V-ACMH-WM250V-ACMH-WM250V-ACMH-WM250V-ACMH-WM250V-ACMH-WM250V-ACMH-WM250V-ACMH-WM250V-ACMH-WM250V-ACMH-WM250V-ACMH-WM250V-ACMH-WM250V-A
CMH-WM350V-ACMH-WM350V-ACMH-WM350V-ACMH-WM350V-ACMH-WM350V-ACMH-WM350V-ACMH-WM350V-ACMH-WM350V-ACMH-WM350V-ACMH-WM350V-ACMH-WM350V-ACMH-WM350V-A
CMH-WM500V-ACMH-WM500V-ACMH-WM500V-ACMH-WM500V-ACMH-WM500V-ACMH-WM500V-ACMH-WM500V-ACMH-WM500V-ACMH-WM500V-ACMH-WM500V-ACMH-WM500V-ACMH-WM500V-A

EXTERNAL PARTSEXTERNAL PARTSEXTERNAL PARTSEXTERNAL PARTSEXTERNAL PARTSEXTERNAL PARTSEXTERNAL PARTSEXTERNAL PARTSEXTERNAL PARTSEXTERNAL PARTSEXTERNAL PARTSEXTERNAL PARTSEXTERNAL PARTSEXTERNAL PARTS

CM
H-

W
M

25
0V

-A
CM

H-
W

M
25

0V
-A

CM
H-

W
M

25
0V

-A
CM

H-
W

M
25

0V
-A

CM
H-

W
M

25
0V

-A
CM

H-
W

M
25

0V
-A

CM
H-

W
M

25
0V

-A
CM

H-
W

M
25

0V
-A

CM
H-

W
M

25
0V

-A
CM

H-
W

M
25

0V
-A

CM
H-

W
M

25
0V

-A
CM

H-
W

M
25

0V
-A

CM
H-

W
M

35
0V

-A
CM

H-
W

M
35

0V
-A

CM
H-

W
M

35
0V

-A
CM

H-
W

M
35

0V
-A

CM
H-

W
M

35
0V

-A
CM

H-
W

M
35

0V
-A

CM
H-

W
M

35
0V

-A
CM

H-
W

M
35

0V
-A

CM
H-

W
M

35
0V

-A
CM

H-
W

M
35

0V
-A

CM
H-

W
M

35
0V

-A
CM

H-
W

M
35

0V
-A

CM
H-

W
M

50
0V

-A
CM

H-
W

M
50

0V
-A

CM
H-

W
M

50
0V

-A
CM

H-
W

M
50

0V
-A

CM
H-

W
M

50
0V

-A
CM

H-
W

M
50

0V
-A

CM
H-

W
M

50
0V

-A
CM

H-
W

M
50

0V
-A

CM
H-

W
M

50
0V

-A
CM

H-
W

M
50

0V
-A

CM
H-

W
M

50
0V

-A
CM

H-
W

M
50

0V
-A

101101101   R61 438 651  R61 438 651  R61 438 651  R61 438 651  R61 438 651  R61 438 651  R61 438 651  R61 438 651  R61 438 651  R61 438 651  R61 438 651  R61 438 651  R61 438 651 Panel F Panel F Panel F Panel F Panel F Panel F Panel F Panel F 1 1 1 KL02R533G03KL02R533G03KL02R533G03KL02R533G03KL02R533G03KL02R533G03KL02R533G03KL02R533G03KL02R533G03KL02R533G03KL02R533G03        

102102102   R61 254 690  R61 254 690  R61 254 690  R61 254 690  R61 254 690  R61 254 690  R61 254 690  R61 254 690  R61 254 690  R61 254 690  R61 254 690  R61 254 690  R61 254 690 Piping cover Piping cover Piping cover Piping cover Piping cover Piping cover Piping cover Piping cover Piping cover Piping cover Piping cover Piping cover Piping cover 1 1 1 KL02R534G03KL02R534G03KL02R534G03KL02R534G03KL02R534G03KL02R534G03KL02R534G03KL02R534G03KL02R534G03KL02R534G03KL02R534G03        

103103103   R61 439 651  R61 439 651  R61 439 651  R61 439 651  R61 439 651  R61 439 651  R61 439 651  R61 439 651  R61 439 651  R61 439 651  R61 439 651  R61 439 651  R61 439 651 Panel BL Panel BL Panel BL Panel BL Panel BL Panel BL Panel BL Panel BL Panel BL 1 1 1 KL02R537G03KL02R537G03KL02R537G03KL02R537G03KL02R537G03KL02R537G03KL02R537G03KL02R537G03KL02R537G03KL02R537G03KL02R537G03        

104104104   R61 440 651  R61 440 651  R61 440 651  R61 440 651  R61 440 651  R61 440 651  R61 440 651  R61 440 651  R61 440 651  R61 440 651  R61 440 651  R61 440 651  R61 440 651 Panel BM Panel BM Panel BM Panel BM Panel BM Panel BM Panel BM Panel BM Panel BM 1 1 1 KL02R850G01KL02R850G01KL02R850G01KL02R850G01KL02R850G01KL02R850G01KL02R850G01KL02R850G01KL02R850G01KL02R850G01KL02R850G01        

105105105   R61 441 651  R61 441 651  R61 441 651  R61 441 651  R61 441 651  R61 441 651  R61 441 651  R61 441 651  R61 441 651  R61 441 651  R61 441 651  R61 441 651  R61 441 651 Panel BR Panel BR Panel BR Panel BR Panel BR Panel BR Panel BR Panel BR Panel BR 1 1 1 KL02R849G01KL02R849G01KL02R849G01KL02R849G01KL02R849G01KL02R849G01KL02R849G01KL02R849G01KL02R849G01KL02R849G01KL02R849G01        

106106106   R61 442 651  R61 442 651  R61 442 651  R61 442 651  R61 442 651  R61 442 651  R61 442 651  R61 442 651  R61 442 651  R61 442 651  R61 442 651  R61 442 651  R61 442 651 Panel assy SRL Panel assy SRL Panel assy SRL Panel assy SRL Panel assy SRL Panel assy SRL Panel assy SRL Panel assy SRL Panel assy SRL Panel assy SRL Panel assy SRL Panel assy SRL Panel assy SRL Panel assy SRL Panel assy SRL 2 2 2 KL00T614G01KL00T614G01KL00T614G01KL00T614G01KL00T614G01KL00T614G01KL00T614G01KL00T614G01KL00T614G01KL00T614G01KL00T614G01        

107107107   R61 443 651  R61 443 651  R61 443 651  R61 443 651  R61 443 651  R61 443 651  R61 443 651  R61 443 651  R61 443 651  R61 443 651  R61 443 651  R61 443 651  R61 443 651 Panel T Panel T Panel T Panel T Panel T Panel T Panel T Panel T 1 1 1 KD02J746G05KD02J746G05KD02J746G05KD02J746G05KD02J746G05KD02J746G05KD02J746G05KD02J746G05KD02J746G05KD02J746G05KD02J746G05        

108108108   R61 166 162  R61 166 162  R61 166 162  R61 166 162  R61 166 162  R61 166 162  R61 166 162  R61 166 162  R61 166 162  R61 166 162  R61 166 162  R61 166 162  R61 166 162 Frame B Frame B Frame B Frame B Frame B Frame B Frame B Frame B 1 1 1 KL02R574H03KL02R574H03KL02R574H03KL02R574H03KL02R574H03KL02R574H03KL02R574H03KL02R574H03KL02R574H03KL02R574H03KL02R574H03        

109109109   R61 048 087  R61 048 087  R61 048 087  R61 048 087  R61 048 087  R61 048 087  R61 048 087  R61 048 087  R61 048 087  R61 048 087  R61 048 087  R61 048 087  R61 048 087 H screw H screw H screw H screw H screw H screw H screw H screw M5×10 KNURLED(30pcs) M5×10 KNURLED(30pcs) M5×10 KNURLED(30pcs) M5×10 KNURLED(30pcs) M5×10 KNURLED(30pcs) M5×10 KNURLED(30pcs) M5×10 KNURLED(30pcs) M5×10 KNURLED(30pcs) M5×10 KNURLED(30pcs) M5×10 KNURLED(30pcs) M5×10 KNURLED(30pcs) M5×10 KNURLED(30pcs) M5×10 KNURLED(30pcs) M5×10 KNURLED(30pcs) M5×10 KNURLED(30pcs) M5×10 KNURLED(30pcs) M5×10 KNURLED(30pcs) M5×10 KNURLED(30pcs) M5×10 KNURLED(30pcs) M5×10 KNURLED(30pcs) M5×10 KNURLED(30pcs) 3 3 3 KB00H418G14KB00H418G14KB00H418G14KB00H418G14KB00H418G14KB00H418G14KB00H418G14KB00H418G14KB00H418G14KB00H418G14KB00H418G14  *1  *1  *1  *1     

2



203.202.201

206.205.204

218

227

211
217

213

216 210.209

223.222.221
225.224

219

218

212

219

215

208.207

226

220

214

214

214

214

230

229.228

3

CMH-WM250V-ACMH-WM250V-ACMH-WM250V-ACMH-WM250V-ACMH-WM250V-ACMH-WM250V-ACMH-WM250V-ACMH-WM250V-ACMH-WM250V-ACMH-WM250V-ACMH-WM250V-ACMH-WM250V-A
CMH-WM350V-ACMH-WM350V-ACMH-WM350V-ACMH-WM350V-ACMH-WM350V-ACMH-WM350V-ACMH-WM350V-ACMH-WM350V-ACMH-WM350V-ACMH-WM350V-ACMH-WM350V-ACMH-WM350V-A
CMH-WM500V-ACMH-WM500V-ACMH-WM500V-ACMH-WM500V-ACMH-WM500V-ACMH-WM500V-ACMH-WM500V-ACMH-WM500V-ACMH-WM500V-ACMH-WM500V-ACMH-WM500V-ACMH-WM500V-A

FUNCTIONAL PARTSFUNCTIONAL PARTSFUNCTIONAL PARTSFUNCTIONAL PARTSFUNCTIONAL PARTSFUNCTIONAL PARTSFUNCTIONAL PARTSFUNCTIONAL PARTSFUNCTIONAL PARTSFUNCTIONAL PARTSFUNCTIONAL PARTSFUNCTIONAL PARTSFUNCTIONAL PARTSFUNCTIONAL PARTSFUNCTIONAL PARTSFUNCTIONAL PARTS



No. Part  Name Spec. Dwg. No. Notes for the models

R
ev

is
io

n 
in

fo
.

Part No.

CMH-WM250V-ACMH-WM250V-ACMH-WM250V-ACMH-WM250V-ACMH-WM250V-ACMH-WM250V-ACMH-WM250V-ACMH-WM250V-ACMH-WM250V-ACMH-WM250V-ACMH-WM250V-ACMH-WM250V-A
CMH-WM350V-ACMH-WM350V-ACMH-WM350V-ACMH-WM350V-ACMH-WM350V-ACMH-WM350V-ACMH-WM350V-ACMH-WM350V-ACMH-WM350V-ACMH-WM350V-ACMH-WM350V-ACMH-WM350V-A
CMH-WM500V-ACMH-WM500V-ACMH-WM500V-ACMH-WM500V-ACMH-WM500V-ACMH-WM500V-ACMH-WM500V-ACMH-WM500V-ACMH-WM500V-ACMH-WM500V-ACMH-WM500V-ACMH-WM500V-A

FUNCTIONAL PARTSFUNCTIONAL PARTSFUNCTIONAL PARTSFUNCTIONAL PARTSFUNCTIONAL PARTSFUNCTIONAL PARTSFUNCTIONAL PARTSFUNCTIONAL PARTSFUNCTIONAL PARTSFUNCTIONAL PARTSFUNCTIONAL PARTSFUNCTIONAL PARTSFUNCTIONAL PARTSFUNCTIONAL PARTSFUNCTIONAL PARTSFUNCTIONAL PARTS

CM
H-

W
M

25
0V

-A
CM

H-
W

M
25

0V
-A

CM
H-

W
M

25
0V

-A
CM

H-
W

M
25

0V
-A

CM
H-

W
M

25
0V

-A
CM

H-
W

M
25

0V
-A

CM
H-

W
M

25
0V

-A
CM

H-
W

M
25

0V
-A

CM
H-

W
M

25
0V

-A
CM

H-
W

M
25

0V
-A

CM
H-

W
M

25
0V

-A
CM

H-
W

M
25

0V
-A

CM
H-

W
M

35
0V

-A
CM

H-
W

M
35

0V
-A

CM
H-

W
M

35
0V

-A
CM

H-
W

M
35

0V
-A

CM
H-

W
M

35
0V

-A
CM

H-
W

M
35

0V
-A

CM
H-

W
M

35
0V

-A
CM

H-
W

M
35

0V
-A

CM
H-

W
M

35
0V

-A
CM

H-
W

M
35

0V
-A

CM
H-

W
M

35
0V

-A
CM

H-
W

M
35

0V
-A

CM
H-

W
M

50
0V

-A
CM

H-
W

M
50

0V
-A

CM
H-

W
M

50
0V

-A
CM

H-
W

M
50

0V
-A

CM
H-

W
M

50
0V

-A
CM

H-
W

M
50

0V
-A

CM
H-

W
M

50
0V

-A
CM

H-
W

M
50

0V
-A

CM
H-

W
M

50
0V

-A
CM

H-
W

M
50

0V
-A

CM
H-

W
M

50
0V

-A
CM

H-
W

M
50

0V
-A

201201201   R61 G38 480  R61 G38 480  R61 G38 480  R61 G38 480  R61 G38 480  R61 G38 480  R61 G38 480  R61 G38 480  R61 G38 480  R61 G38 480  R61 G38 480  R61 G38 480  R61 G38 480 Heat exchanger assy Heat exchanger assy Heat exchanger assy Heat exchanger assy Heat exchanger assy Heat exchanger assy Heat exchanger assy Heat exchanger assy Heat exchanger assy Heat exchanger assy Heat exchanger assy Heat exchanger assy Heat exchanger assy Heat exchanger assy Heat exchanger assy Heat exchanger assy Heat exchanger assy Heat exchanger assy Heat exchanger assy Heat exchanger assy F85Hx68F85Hx68F85Hx68F85Hx68F85Hx68F85Hx68F85Hx68 1 KL00T453G03KL00T453G03KL00T453G03KL00T453G03KL00T453G03KL00T453G03KL00T453G03KL00T453G03KL00T453G03KL00T453G03KL00T453G03        

202202202   R61 G39 480  R61 G39 480  R61 G39 480  R61 G39 480  R61 G39 480  R61 G39 480  R61 G39 480  R61 G39 480  R61 G39 480  R61 G39 480  R61 G39 480  R61 G39 480  R61 G39 480 Heat exchanger assy Heat exchanger assy Heat exchanger assy Heat exchanger assy Heat exchanger assy Heat exchanger assy Heat exchanger assy Heat exchanger assy Heat exchanger assy Heat exchanger assy Heat exchanger assy Heat exchanger assy Heat exchanger assy Heat exchanger assy Heat exchanger assy Heat exchanger assy Heat exchanger assy Heat exchanger assy Heat exchanger assy Heat exchanger assy F85Hx94F85Hx94F85Hx94F85Hx94F85Hx94F85Hx94F85Hx94 1 KL00T449G03KL00T449G03KL00T449G03KL00T449G03KL00T449G03KL00T449G03KL00T449G03KL00T449G03KL00T449G03KL00T449G03KL00T449G03        

203203203   R61 G40 480  R61 G40 480  R61 G40 480  R61 G40 480  R61 G40 480  R61 G40 480  R61 G40 480  R61 G40 480  R61 G40 480  R61 G40 480  R61 G40 480  R61 G40 480  R61 G40 480 Heat exchanger assy Heat exchanger assy Heat exchanger assy Heat exchanger assy Heat exchanger assy Heat exchanger assy Heat exchanger assy Heat exchanger assy Heat exchanger assy Heat exchanger assy Heat exchanger assy Heat exchanger assy Heat exchanger assy Heat exchanger assy Heat exchanger assy Heat exchanger assy Heat exchanger assy Heat exchanger assy Heat exchanger assy Heat exchanger assy F120THx70F120THx70F120THx70F120THx70F120THx70F120THx70F120THx70F120THx70F120THx70 1 KL00T445G03KL00T445G03KL00T445G03KL00T445G03KL00T445G03KL00T445G03KL00T445G03KL00T445G03KL00T445G03KL00T445G03KL00T445G03        

204204204   R61 038 539  R61 038 539  R61 038 539  R61 038 539  R61 038 539  R61 038 539  R61 038 539  R61 038 539  R61 038 539  R61 038 539  R61 038 539  R61 038 539  R61 038 539 Pump Pump Pump Pump Pump 32LP-MR350632LP-MR350632LP-MR350632LP-MR350632LP-MR350632LP-MR350632LP-MR350632LP-MR350632LP-MR350632LP-MR350632LP-MR3506 1 P722164X01P722164X01P722164X01P722164X01P722164X01P722164X01P722164X01P722164X01P722164X01P722164X01   <WP>  <WP>  <WP>  <WP>  <WP>  <WP>     

205205205   R61 039 539  R61 039 539  R61 039 539  R61 039 539  R61 039 539  R61 039 539  R61 039 539  R61 039 539  R61 039 539  R61 039 539  R61 039 539  R61 039 539  R61 039 539 Pump Pump Pump Pump Pump 32LP-MR360632LP-MR360632LP-MR360632LP-MR360632LP-MR360632LP-MR360632LP-MR360632LP-MR360632LP-MR360632LP-MR360632LP-MR3606 1 P722165X01P722165X01P722165X01P722165X01P722165X01P722165X01P722165X01P722165X01P722165X01P722165X01   <WP>  <WP>  <WP>  <WP>  <WP>  <WP>     

206206206   R61 040 539  R61 040 539  R61 040 539  R61 040 539  R61 040 539  R61 040 539  R61 040 539  R61 040 539  R61 040 539  R61 040 539  R61 040 539  R61 040 539  R61 040 539 Pump Pump Pump Pump Pump 32LP-MR370632LP-MR370632LP-MR370632LP-MR370632LP-MR370632LP-MR370632LP-MR370632LP-MR370632LP-MR370632LP-MR370632LP-MR3706 1 P722166X01P722166X01P722166X01P722166X01P722166X01P722166X01P722166X01P722166X01P722166X01P722166X01   <WP>  <WP>  <WP>  <WP>  <WP>  <WP>     

207207207   R61 107 401  R61 107 401  R61 107 401  R61 107 401  R61 107 401  R61 107 401  R61 107 401  R61 107 401  R61 107 401  R61 107 401  R61 107 401  R61 107 401  R61 107 401 Linear expansion valve Linear expansion valve Linear expansion valve Linear expansion valve Linear expansion valve Linear expansion valve Linear expansion valve Linear expansion valve Linear expansion valve Linear expansion valve Linear expansion valve Linear expansion valve Linear expansion valve Linear expansion valve Linear expansion valve Linear expansion valve Linear expansion valve Linear expansion valve Linear expansion valve Linear expansion valve Linear expansion valve Linear expansion valve Linear expansion valve PAM-BB0YGMD-2PAM-BB0YGMD-2PAM-BB0YGMD-2PAM-BB0YGMD-2PAM-BB0YGMD-2PAM-BB0YGMD-2PAM-BB0YGMD-2PAM-BB0YGMD-2PAM-BB0YGMD-2PAM-BB0YGMD-2PAM-BB0YGMD-2PAM-BB0YGMD-2PAM-BB0YGMD-2 1 1 1 KR50C486H01KR50C486H01KR50C486H01KR50C486H01KR50C486H01KR50C486H01KR50C486H01KR50C486H01KR50C486H01KR50C486H01KR50C486H01  <LEV>  <LEV>  <LEV>  <LEV>  <LEV>  <LEV>  <LEV>     

208208208   R61 108 401  R61 108 401  R61 108 401  R61 108 401  R61 108 401  R61 108 401  R61 108 401  R61 108 401  R61 108 401  R61 108 401  R61 108 401  R61 108 401  R61 108 401 Linear expansion valve coil  Linear expansion valve coil  Linear expansion valve coil  Linear expansion valve coil  Linear expansion valve coil  Linear expansion valve coil  Linear expansion valve coil  Linear expansion valve coil  Linear expansion valve coil  Linear expansion valve coil  Linear expansion valve coil  Linear expansion valve coil  Linear expansion valve coil  Linear expansion valve coil  Linear expansion valve coil  Linear expansion valve coil  Linear expansion valve coil  Linear expansion valve coil  Linear expansion valve coil  Linear expansion valve coil  Linear expansion valve coil  Linear expansion valve coil  Linear expansion valve coil  Linear expansion valve coil  Linear expansion valve coil  Linear expansion valve coil  Linear expansion valve coil  Linear expansion valve coil  Linear expansion valve coil PAM-MD12MD-17PAM-MD12MD-17PAM-MD12MD-17PAM-MD12MD-17PAM-MD12MD-17PAM-MD12MD-17PAM-MD12MD-17PAM-MD12MD-17PAM-MD12MD-17PAM-MD12MD-17PAM-MD12MD-17PAM-MD12MD-17PAM-MD12MD-17 1 1 1 P472109X01P472109X01P472109X01P472109X01P472109X01P472109X01P472109X01P472109X01P472109X01P472109X01   <LEV>  <LEV>  <LEV>  <LEV>  <LEV>  <LEV>  <LEV>     

209209209   R63 851 921  R63 851 921  R63 851 921  R63 851 921  R63 851 921  R63 851 921  R63 851 921  R63 851 921  R63 851 921  R63 851 921  R63 851 921  R63 851 921  R63 851 921 Solenoid valve Solenoid valve Solenoid valve Solenoid valve Solenoid valve Solenoid valve Solenoid valve Solenoid valve Solenoid valve Solenoid valve Solenoid valve Solenoid valve Solenoid valve Solenoid valve Solenoid valve VPV-1204DQ50VPV-1204DQ50VPV-1204DQ50VPV-1204DQ50VPV-1204DQ50VPV-1204DQ50VPV-1204DQ50VPV-1204DQ50VPV-1204DQ50VPV-1204DQ50VPV-1204DQ50VPV-1204DQ50 1 1 1 P631822X01P631822X01P631822X01P631822X01P631822X01P631822X01P631822X01P631822X01P631822X01P631822X01   <SV>  <SV>  <SV>  <SV>  <SV>  <SV>     

210210210   R61 015 243  R61 015 243  R61 015 243  R61 015 243  R61 015 243  R61 015 243  R61 015 243  R61 015 243  R61 015 243  R61 015 243  R61 015 243  R61 015 243  R61 015 243 Solenoid valve coil Solenoid valve coil Solenoid valve coil Solenoid valve coil Solenoid valve coil Solenoid valve coil Solenoid valve coil Solenoid valve coil Solenoid valve coil Solenoid valve coil Solenoid valve coil Solenoid valve coil Solenoid valve coil Solenoid valve coil Solenoid valve coil Solenoid valve coil Solenoid valve coil Solenoid valve coil Solenoid valve coil Solenoid valve coil VPV-MOAJ512B1VPV-MOAJ512B1VPV-MOAJ512B1VPV-MOAJ512B1VPV-MOAJ512B1VPV-MOAJ512B1VPV-MOAJ512B1VPV-MOAJ512B1VPV-MOAJ512B1VPV-MOAJ512B1VPV-MOAJ512B1VPV-MOAJ512B1VPV-MOAJ512B1 1 1 1 P472048X01P472048X01P472048X01P472048X01P472048X01P472048X01P472048X01P472048X01P472048X01P472048X01   <SV>  <SV>  <SV>  <SV>  <SV>  <SV>     

211211211   R61 004 288  R61 004 288  R61 004 288  R61 004 288  R61 004 288  R61 004 288  R61 004 288  R61 004 288  R61 004 288  R61 004 288  R61 004 288  R61 004 288  R61 004 288 Pressure sensor Pressure sensor Pressure sensor Pressure sensor Pressure sensor Pressure sensor Pressure sensor Pressure sensor Pressure sensor Pressure sensor Pressure sensor Pressure sensor Pressure sensor Pressure sensor Pressure sensor Pressure sensor NSK-BD042D-173NSK-BD042D-173NSK-BD042D-173NSK-BD042D-173NSK-BD042D-173NSK-BD042D-173NSK-BD042D-173NSK-BD042D-173NSK-BD042D-173NSK-BD042D-173NSK-BD042D-173NSK-BD042D-173NSK-BD042D-173NSK-BD042D-173 1 1 1 P418047X01P418047X01P418047X01P418047X01P418047X01P418047X01P418047X01P418047X01P418047X01P418047X01   <PSR>  <PSR>  <PSR>  <PSR>  <PSR>  <PSR>  <PSR>     

212212212   R61 113 288  R61 113 288  R61 113 288  R61 113 288  R61 113 288  R61 113 288  R61 113 288  R61 113 288  R61 113 288  R61 113 288  R61 113 288  R61 113 288  R61 113 288 Pressure sensor water Pressure sensor water Pressure sensor water Pressure sensor water Pressure sensor water Pressure sensor water Pressure sensor water Pressure sensor water Pressure sensor water Pressure sensor water Pressure sensor water Pressure sensor water Pressure sensor water Pressure sensor water Pressure sensor water Pressure sensor water Pressure sensor water Pressure sensor water Pressure sensor water Pressure sensor water Pressure sensor water Pressure sensor water NSK-BH010B-722NSK-BH010B-722NSK-BH010B-722NSK-BH010B-722NSK-BH010B-722NSK-BH010B-722NSK-BH010B-722NSK-BH010B-722NSK-BH010B-722NSK-BH010B-722NSK-BH010B-722NSK-BH010B-722NSK-BH010B-722NSK-BH010B-722 1 1 1 P418162X01P418162X01P418162X01P418162X01P418162X01P418162X01P418162X01P418162X01P418162X01P418162X01   <PSHW>  <PSHW>  <PSHW>  <PSHW>  <PSHW>  <PSHW>  <PSHW>  <PSHW>     

213213213   R61 114 288  R61 114 288  R61 114 288  R61 114 288  R61 114 288  R61 114 288  R61 114 288  R61 114 288  R61 114 288  R61 114 288  R61 114 288  R61 114 288  R61 114 288 Pressure sensor water Pressure sensor water Pressure sensor water Pressure sensor water Pressure sensor water Pressure sensor water Pressure sensor water Pressure sensor water Pressure sensor water Pressure sensor water Pressure sensor water Pressure sensor water Pressure sensor water Pressure sensor water Pressure sensor water Pressure sensor water Pressure sensor water Pressure sensor water Pressure sensor water Pressure sensor water Pressure sensor water Pressure sensor water NSK-BH010B-724NSK-BH010B-724NSK-BH010B-724NSK-BH010B-724NSK-BH010B-724NSK-BH010B-724NSK-BH010B-724NSK-BH010B-724NSK-BH010B-724NSK-BH010B-724NSK-BH010B-724NSK-BH010B-724NSK-BH010B-724NSK-BH010B-724 1 1 1 P418164X01P418164X01P418164X01P418164X01P418164X01P418164X01P418164X01P418164X01P418164X01P418164X01   <PSLW>  <PSLW>  <PSLW>  <PSLW>  <PSLW>  <PSLW>  <PSLW>  <PSLW>     

214214214   R61 280 200  R61 280 200  R61 280 200  R61 280 200  R61 280 200  R61 280 200  R61 280 200  R61 280 200  R61 280 200  R61 280 200  R61 280 200  R61 280 200  R61 280 200 Thermistor Thermistor Thermistor Thermistor Thermistor Thermistor Thermistor Thermistor Thermistor Thermistor Thermistor PXM-41E-M105-01YPXM-41E-M105-01YPXM-41E-M105-01YPXM-41E-M105-01YPXM-41E-M105-01YPXM-41E-M105-01YPXM-41E-M105-01YPXM-41E-M105-01YPXM-41E-M105-01YPXM-41E-M105-01YPXM-41E-M105-01YPXM-41E-M105-01YPXM-41E-M105-01YPXM-41E-M105-01YPXM-41E-M105-01YPXM-41E-M105-01Y 4 4 4 P418144X01P418144X01P418144X01P418144X01P418144X01P418144X01P418144X01P418144X01P418144X01P418144X01   <TH11,TH13,TH32,TH35>  <TH11,TH13,TH32,TH35>  <TH11,TH13,TH32,TH35>  <TH11,TH13,TH32,TH35>  <TH11,TH13,TH32,TH35>  <TH11,TH13,TH32,TH35>  <TH11,TH13,TH32,TH35>  <TH11,TH13,TH32,TH35>  <TH11,TH13,TH32,TH35>  <TH11,TH13,TH32,TH35>  <TH11,TH13,TH32,TH35>  <TH11,TH13,TH32,TH35>  <TH11,TH13,TH32,TH35>  <TH11,TH13,TH32,TH35>  <TH11,TH13,TH32,TH35>  <TH11,TH13,TH32,TH35>  <TH11,TH13,TH32,TH35>  <TH11,TH13,TH32,TH35>  <TH11,TH13,TH32,TH35>  <TH11,TH13,TH32,TH35>  <TH11,TH13,TH32,TH35>  <TH11,TH13,TH32,TH35>  <TH11,TH13,TH32,TH35>     

215215215   R61 071 418  R61 071 418  R61 071 418  R61 071 418  R61 071 418  R61 071 418  R61 071 418  R61 071 418  R61 071 418  R61 071 418  R61 071 418  R61 071 418  R61 071 418 Check valve Check valve Check valve Check valve Check valve Check valve Check valve Check valve Check valve Check valve Check valve Check valve YCV11-007YCV11-007YCV11-007YCV11-007YCV11-007YCV11-007YCV11-007YCV11-007YCV11-007 1 1 1 P639219X01P639219X01P639219X01P639219X01P639219X01P639219X01P639219X01P639219X01P639219X01P639219X01   <CV>  <CV>  <CV>  <CV>  <CV>  <CV>     

216216216   R61 008 454  R61 008 454  R61 008 454  R61 008 454  R61 008 454  R61 008 454  R61 008 454  R61 008 454  R61 008 454  R61 008 454  R61 008 454  R61 008 454  R61 008 454 Strainer Strainer Strainer Strainer Strainer Strainer Strainer Strainer Strainer 25.4D25.4D25.4D25.4D25.4D 1 1 1 KB48K250G01KB48K250G01KB48K250G01KB48K250G01KB48K250G01KB48K250G01KB48K250G01KB48K250G01KB48K250G01KB48K250G01KB48K250G01  <ST1>  <ST1>  <ST1>  <ST1>  <ST1>  <ST1>  <ST1>     

217217217   R63 Y03 454  R63 Y03 454  R63 Y03 454  R63 Y03 454  R63 Y03 454  R63 Y03 454  R63 Y03 454  R63 Y03 454  R63 Y03 454  R63 Y03 454  R63 Y03 454  R63 Y03 454  R63 Y03 454 Strainer Strainer Strainer Strainer Strainer Strainer Strainer Strainer Strainer 17.6D17.6D17.6D17.6D17.6D 1 1 1 W893281G01W893281G01W893281G01W893281G01W893281G01W893281G01W893281G01W893281G01W893281G01W893281G01  <ST2>  <ST2>  <ST2>  <ST2>  <ST2>  <ST2>  <ST2>     

218218218   R61 004 635  R61 004 635  R61 004 635  R61 004 635  R61 004 635  R61 004 635  R61 004 635  R61 004 635  R61 004 635  R61 004 635  R61 004 635  R61 004 635  R61 004 635 Gasket Gasket Gasket Gasket Gasket Gasket Gasket 1-1/4B1-1/4B1-1/4B1-1/4B1-1/4B1-1/4B 2 2 2 KJ34K583H01KJ34K583H01KJ34K583H01KJ34K583H01KJ34K583H01KJ34K583H01KJ34K583H01KJ34K583H01KJ34K583H01KJ34K583H01KJ34K583H01        

219219219   R15 006 040  R15 006 040  R15 006 040  R15 006 040  R15 006 040  R15 006 040  R15 006 040  R15 006 040  R15 006 040  R15 006 040  R15 006 040  R15 006 040  R15 006 040 Housing joint Housing joint Housing joint Housing joint Housing joint Housing joint Housing joint Housing joint Housing joint Housing joint Housing joint Housing joint Housing joint Housing joint 1-1/2B1-1/2B1-1/2B1-1/2B1-1/2B1-1/2B 2 2 2 P669006X01P669006X01P669006X01P669006X01P669006X01P669006X01P669006X01P669006X01P669006X01P669006X01         

220220220   R61 010 410  R61 010 410  R61 010 410  R61 010 410  R61 010 410  R61 010 410  R61 010 410  R61 010 410  R61 010 410  R61 010 410  R61 010 410  R61 010 410  R61 010 410 Water purge valve Water purge valve Water purge valve Water purge valve Water purge valve Water purge valve Water purge valve Water purge valve Water purge valve Water purge valve Water purge valve Water purge valve Water purge valve Water purge valve Water purge valve Water purge valve Water purge valve Water purge valve 1 1 1 P635209X01P635209X01P635209X01P635209X01P635209X01P635209X01P635209X01P635209X01P635209X01P635209X01         

221221221   R61 021 410  R61 021 410  R61 021 410  R61 021 410  R61 021 410  R61 021 410  R61 021 410  R61 021 410  R61 021 410  R61 021 410  R61 021 410  R61 021 410  R61 021 410 Relief valve Relief valve Relief valve Relief valve Relief valve Relief valve Relief valve Relief valve Relief valve Relief valve Relief valve Relief valve Relief valve 1 1 1 P634031X01P634031X01P634031X01P634031X01P634031X01P634031X01P634031X01P634031X01P634031X01P634031X01         

222222222   R61 023 326  R61 023 326  R61 023 326  R61 023 326  R61 023 326  R61 023 326  R61 023 326  R61 023 326  R61 023 326  R61 023 326  R61 023 326  R61 023 326  R61 023 326 Clip Clip Clip Clip Clip 5pcs5pcs5pcs5pcs 1 1 1 KD00F663G01KD00F663G01KD00F663G01KD00F663G01KD00F663G01KD00F663G01KD00F663G01KD00F663G01KD00F663G01KD00F663G01KD00F663G01        

223223223   R61 001 574  R61 001 574  R61 001 574  R61 001 574  R61 001 574  R61 001 574  R61 001 574  R61 001 574  R61 001 574  R61 001 574  R61 001 574  R61 001 574  R61 001 574 O-ring O-ring O-ring O-ring O-ring O-ring O-ring 10pcs 15.8D10pcs 15.8D10pcs 15.8D10pcs 15.8D10pcs 15.8D10pcs 15.8D10pcs 15.8D10pcs 15.8D10pcs 15.8D10pcs 15.8D10pcs 15.8D 1 1 1 KD00F664G01KD00F664G01KD00F664G01KD00F664G01KD00F664G01KD00F664G01KD00F664G01KD00F664G01KD00F664G01KD00F664G01KD00F664G01        

224224224   R12 001 461  R12 001 461  R12 001 461  R12 001 461  R12 001 461  R12 001 461  R12 001 461  R12 001 461  R12 001 461  R12 001 461  R12 001 461  R12 001 461  R12 001 461 Gasket Gasket Gasket Gasket Gasket Gasket Gasket 1 1 1 KC34D984H02KC34D984H02KC34D984H02KC34D984H02KC34D984H02KC34D984H02KC34D984H02KC34D984H02KC34D984H02KC34D984H02KC34D984H02        

225225225   R61 002 524  R61 002 524  R61 002 524  R61 002 524  R61 002 524  R61 002 524  R61 002 524  R61 002 524  R61 002 524  R61 002 524  R61 002 524  R61 002 524  R61 002 524 Band hose Band hose Band hose Band hose Band hose Band hose Band hose Band hose Band hose Band hose 1 1 1 P694049X01P694049X01P694049X01P694049X01P694049X01P694049X01P694049X01P694049X01P694049X01P694049X01         

226226226   R61 008 526  R61 008 526  R61 008 526  R61 008 526  R61 008 526  R61 008 526  R61 008 526  R61 008 526  R61 008 526  R61 008 526  R61 008 526  R61 008 526  R61 008 526 Tube Tube Tube Tube Tube 1 1 1 S645012H02S645012H02S645012H02S645012H02S645012H02S645012H02S645012H02S645012H02S645012H02S645012H02         

227227227   R61 010 306  R61 010 306  R61 010 306  R61 010 306  R61 010 306  R61 010 306  R61 010 306  R61 010 306  R61 010 306  R61 010 306  R61 010 306  R61 010 306  R61 010 306 Bolt insulation Bolt insulation Bolt insulation Bolt insulation Bolt insulation Bolt insulation Bolt insulation Bolt insulation Bolt insulation Bolt insulation Bolt insulation Bolt insulation Bolt insulation Bolt insulation Bolt insulation Bolt insulation M12×65M12×65M12×65M12×65M12×65M12×65 8 8 8 P539016X02P539016X02P539016X02P539016X02P539016X02P539016X02P539016X02P539016X02P539016X02P539016X02         

228228228   R12 954 907  R12 954 907  R12 954 907  R12 954 907  R12 954 907  R12 954 907  R12 954 907  R12 954 907  R12 954 907  R12 954 907  R12 954 907  R12 954 907  R12 954 907 Strainer Strainer Strainer Strainer Strainer Strainer Strainer Strainer Strainer 1-1/4B1-1/4B1-1/4B1-1/4B1-1/4B1-1/4B 1 1 P641121X01P641121X01P641121X01P641121X01P641121X01P641121X01P641121X01P641121X01P641121X01P641121X01         

229229229   R12 007 907  R12 007 907  R12 007 907  R12 007 907  R12 007 907  R12 007 907  R12 007 907  R12 007 907  R12 007 907  R12 007 907  R12 007 907  R12 007 907  R12 007 907 Strainer Strainer Strainer Strainer Strainer Strainer Strainer Strainer Strainer 1-1/2B1-1/2B1-1/2B1-1/2B1-1/2B1-1/2B 1 P641138X01P641138X01P641138X01P641138X01P641138X01P641138X01P641138X01P641138X01P641138X01P641138X01         

230230230   R61 023 410  R61 023 410  R61 023 410  R61 023 410  R61 023 410  R61 023 410  R61 023 410  R61 023 410  R61 023 410  R61 023 410  R61 023 410  R61 023 410  R61 023 410 Auto air purge valve Auto air purge valve Auto air purge valve Auto air purge valve Auto air purge valve Auto air purge valve Auto air purge valve Auto air purge valve Auto air purge valve Auto air purge valve Auto air purge valve Auto air purge valve Auto air purge valve Auto air purge valve Auto air purge valve Auto air purge valve Auto air purge valve Auto air purge valve Auto air purge valve Auto air purge valve Auto air purge valve CAV-204MCAV-204MCAV-204MCAV-204MCAV-204MCAV-204MCAV-204MCAV-204M 1 1 1 P635210X01P635210X01P635210X01P635210X01P635210X01P635210X01P635210X01P635210X01P635210X01P635210X01         

4



307 305 306 308

303 302 304

301

5

CMH-WM250V-ACMH-WM250V-ACMH-WM250V-ACMH-WM250V-ACMH-WM250V-ACMH-WM250V-ACMH-WM250V-ACMH-WM250V-ACMH-WM250V-ACMH-WM250V-ACMH-WM250V-ACMH-WM250V-A
CMH-WM350V-ACMH-WM350V-ACMH-WM350V-ACMH-WM350V-ACMH-WM350V-ACMH-WM350V-ACMH-WM350V-ACMH-WM350V-ACMH-WM350V-ACMH-WM350V-ACMH-WM350V-ACMH-WM350V-A
CMH-WM500V-ACMH-WM500V-ACMH-WM500V-ACMH-WM500V-ACMH-WM500V-ACMH-WM500V-ACMH-WM500V-ACMH-WM500V-ACMH-WM500V-ACMH-WM500V-ACMH-WM500V-ACMH-WM500V-A

CONTROL BOX PARTSCONTROL BOX PARTSCONTROL BOX PARTSCONTROL BOX PARTSCONTROL BOX PARTSCONTROL BOX PARTSCONTROL BOX PARTSCONTROL BOX PARTSCONTROL BOX PARTSCONTROL BOX PARTSCONTROL BOX PARTSCONTROL BOX PARTSCONTROL BOX PARTSCONTROL BOX PARTSCONTROL BOX PARTSCONTROL BOX PARTSCONTROL BOX PARTS



No. Part  Name Spec. Dwg. No. Notes for the models

R
ev

is
io

n 
in

fo
.

Part No.

CMH-WM250V-ACMH-WM250V-ACMH-WM250V-ACMH-WM250V-ACMH-WM250V-ACMH-WM250V-ACMH-WM250V-ACMH-WM250V-ACMH-WM250V-ACMH-WM250V-ACMH-WM250V-ACMH-WM250V-A
CMH-WM350V-ACMH-WM350V-ACMH-WM350V-ACMH-WM350V-ACMH-WM350V-ACMH-WM350V-ACMH-WM350V-ACMH-WM350V-ACMH-WM350V-ACMH-WM350V-ACMH-WM350V-ACMH-WM350V-A
CMH-WM500V-ACMH-WM500V-ACMH-WM500V-ACMH-WM500V-ACMH-WM500V-ACMH-WM500V-ACMH-WM500V-ACMH-WM500V-ACMH-WM500V-ACMH-WM500V-ACMH-WM500V-ACMH-WM500V-A

CONTROL BOX PARTSCONTROL BOX PARTSCONTROL BOX PARTSCONTROL BOX PARTSCONTROL BOX PARTSCONTROL BOX PARTSCONTROL BOX PARTSCONTROL BOX PARTSCONTROL BOX PARTSCONTROL BOX PARTSCONTROL BOX PARTSCONTROL BOX PARTSCONTROL BOX PARTSCONTROL BOX PARTSCONTROL BOX PARTSCONTROL BOX PARTSCONTROL BOX PARTS

CM
H-

W
M

25
0V

-A
CM

H-
W

M
25

0V
-A

CM
H-

W
M

25
0V

-A
CM

H-
W

M
25

0V
-A

CM
H-

W
M

25
0V

-A
CM

H-
W

M
25

0V
-A

CM
H-

W
M

25
0V

-A
CM

H-
W

M
25

0V
-A

CM
H-

W
M

25
0V

-A
CM

H-
W

M
25

0V
-A

CM
H-

W
M

25
0V

-A
CM

H-
W

M
25

0V
-A

CM
H-

W
M

35
0V

-A
CM

H-
W

M
35

0V
-A

CM
H-

W
M

35
0V

-A
CM

H-
W

M
35

0V
-A

CM
H-

W
M

35
0V

-A
CM

H-
W

M
35

0V
-A

CM
H-

W
M

35
0V

-A
CM

H-
W

M
35

0V
-A

CM
H-

W
M

35
0V

-A
CM

H-
W

M
35

0V
-A

CM
H-

W
M

35
0V

-A
CM

H-
W

M
35

0V
-A

CM
H-

W
M

50
0V

-A
CM

H-
W

M
50

0V
-A

CM
H-

W
M

50
0V

-A
CM

H-
W

M
50

0V
-A

CM
H-

W
M

50
0V

-A
CM

H-
W

M
50

0V
-A

CM
H-

W
M

50
0V

-A
CM

H-
W

M
50

0V
-A

CM
H-

W
M

50
0V

-A
CM

H-
W

M
50

0V
-A

CM
H-

W
M

50
0V

-A
CM

H-
W

M
50

0V
-A

301301301   R61 603 280  R61 603 280  R61 603 280  R61 603 280  R61 603 280  R61 603 280  R61 603 280  R61 603 280  R61 603 280  R61 603 280  R61 603 280  R61 603 280  R61 603 280 Control board Control board Control board Control board Control board Control board Control board Control board Control board Control board Control board Control board Control board Control board HYDRO-MAINHYDRO-MAINHYDRO-MAINHYDRO-MAINHYDRO-MAINHYDRO-MAINHYDRO-MAINHYDRO-MAINHYDRO-MAINHYDRO-MAIN 1 1 1 KE80G906G01KE80G906G01KE80G906G01KE80G906G01KE80G906G01KE80G906G01KE80G906G01KE80G906G01KE80G906G01KE80G906G01KE80G906G01  <MAIN-BOARD>  <MAIN-BOARD>  <MAIN-BOARD>  <MAIN-BOARD>  <MAIN-BOARD>  <MAIN-BOARD>  <MAIN-BOARD>  <MAIN-BOARD>  <MAIN-BOARD>  <MAIN-BOARD>  <MAIN-BOARD>  <MAIN-BOARD>  <MAIN-BOARD>  <MAIN-BOARD>     

302302302   R61 604 280  R61 604 280  R61 604 280  R61 604 280  R61 604 280  R61 604 280  R61 604 280  R61 604 280  R61 604 280  R61 604 280  R61 604 280  R61 604 280  R61 604 280 PS board PS board PS board PS board PS board PS board PS board PS board PS board HYDRO-PSHYDRO-PSHYDRO-PSHYDRO-PSHYDRO-PSHYDRO-PSHYDRO-PSHYDRO-PS 1 1 1 KE80G907G01KE80G907G01KE80G907G01KE80G907G01KE80G907G01KE80G907G01KE80G907G01KE80G907G01KE80G907G01KE80G907G01KE80G907G01  <PS-BOARD>  <PS-BOARD>  <PS-BOARD>  <PS-BOARD>  <PS-BOARD>  <PS-BOARD>  <PS-BOARD>  <PS-BOARD>  <PS-BOARD>  <PS-BOARD>  <PS-BOARD>  <PS-BOARD>     

303303303   R61 605 280  R61 605 280  R61 605 280  R61 605 280  R61 605 280  R61 605 280  R61 605 280  R61 605 280  R61 605 280  R61 605 280  R61 605 280  R61 605 280  R61 605 280 INV board INV board INV board INV board INV board INV board INV board INV board INV board INV board INV32INV32INV32INV32INV32 1 1 1 KE80C520G23KE80C520G23KE80C520G23KE80C520G23KE80C520G23KE80C520G23KE80C520G23KE80C520G23KE80C520G23KE80C520G23KE80C520G23  <INV-BOARD>  <INV-BOARD>  <INV-BOARD>  <INV-BOARD>  <INV-BOARD>  <INV-BOARD>  <INV-BOARD>  <INV-BOARD>  <INV-BOARD>  <INV-BOARD>  <INV-BOARD>  <INV-BOARD>  <INV-BOARD>     

304304304   R61 080 259  R61 080 259  R61 080 259  R61 080 259  R61 080 259  R61 080 259  R61 080 259  R61 080 259  R61 080 259  R61 080 259  R61 080 259  R61 080 259  R61 080 259 Reactor Reactor Reactor Reactor Reactor Reactor Reactor Reactor 10A 23MH10A 23MH10A 23MH10A 23MH10A 23MH10A 23MH10A 23MH10A 23MH 1 1 1 KR65C544H01KR65C544H01KR65C544H01KR65C544H01KR65C544H01KR65C544H01KR65C544H01KR65C544H01KR65C544H01KR65C544H01KR65C544H01  <ACL>  <ACL>  <ACL>  <ACL>  <ACL>  <ACL>  <ACL>     

305305305   R63 979 247  R63 979 247  R63 979 247  R63 979 247  R63 979 247  R63 979 247  R63 979 247  R63 979 247  R63 979 247  R63 979 247  R63 979 247  R63 979 247  R63 979 247 Terminal block Terminal block Terminal block Terminal block Terminal block Terminal block Terminal block Terminal block Terminal block Terminal block Terminal block Terminal block Terminal block Terminal block Terminal block JXO-3B-CJXO-3B-CJXO-3B-CJXO-3B-CJXO-3B-CJXO-3B-CJXO-3B-CJXO-3B-C 1 1 1 P436238X01P436238X01P436238X01P436238X01P436238X01P436238X01P436238X01P436238X01P436238X01P436238X01   <TB01>  <TB01>  <TB01>  <TB01>  <TB01>  <TB01>  <TB01>  <TB01>     

306306306   R63 007 964  R63 007 964  R63 007 964  R63 007 964  R63 007 964  R63 007 964  R63 007 964  R63 007 964  R63 007 964  R63 007 964  R63 007 964  R63 007 964  R63 007 964 Fuse Fuse Fuse Fuse Fuse 6.3A AC250V T6.3A AC250V T6.3A AC250V T6.3A AC250V T6.3A AC250V T6.3A AC250V T6.3A AC250V T6.3A AC250V T6.3A AC250V T6.3A AC250V T6.3A AC250V T6.3A AC250V T6.3A AC250V T 1 1 1 YE81D827H01YE81D827H01YE81D827H01YE81D827H01YE81D827H01YE81D827H01YE81D827H01YE81D827H01YE81D827H01YE81D827H01YE81D827H01        

307307307   R61 018 239  R61 018 239  R61 018 239  R61 018 239  R61 018 239  R61 018 239  R61 018 239  R61 018 239  R61 018 239  R61 018 239  R61 018 239  R61 018 239  R61 018 239 Fuse Fuse Fuse Fuse Fuse 3.15A AC250V T3.15A AC250V T3.15A AC250V T3.15A AC250V T3.15A AC250V T3.15A AC250V T3.15A AC250V T3.15A AC250V T3.15A AC250V T3.15A AC250V T3.15A AC250V T3.15A AC250V T3.15A AC250V T3.15A AC250V T 1 1 1 YE81D827H02YE81D827H02YE81D827H02YE81D827H02YE81D827H02YE81D827H02YE81D827H02YE81D827H02YE81D827H02YE81D827H02YE81D827H02        

308308308   R11 003 964  R11 003 964  R11 003 964  R11 003 964  R11 003 964  R11 003 964  R11 003 964  R11 003 964  R11 003 964  R11 003 964  R11 003 964  R11 003 964  R11 003 964 Fuse Fuse Fuse Fuse Fuse 15A AC250V TLC15A AC250V TLC15A AC250V TLC15A AC250V TLC15A AC250V TLC15A AC250V TLC15A AC250V TLC15A AC250V TLC15A AC250V TLC15A AC250V TLC15A AC250V TLC15A AC250V TLC15A AC250V TLC15A AC250V TLC 1 1 1 S423001H33S423001H33S423001H33S423001H33S423001H33S423001H33S423001H33S423001H33S423001H33S423001H33         

6



BWE018330 (20190630)


	COVER
	EXTERNAL PARTS
	ILLUSTRATION
	PARTSLIST1-1

	FUNCTIONAL PARTS
	ILLUSTRATION
	PARTSLIST1-1

	CONTROL BOX PARTS
	ILLUSTRATION
	PARTSLIST1-1

	BACKCOVER



